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15K (A)

- MATHEMATICS, Paper - I
' (English version} '
Parts Aand B

Time : 2% Hours] IMaximum Marks : 50

Instructions :
1. Answer the questions under Part-A on a separate answer book.

2. Write the answers fo the questions under Part-B on the Question haper itself
and atiach it to the answer book of Part-A.

Part - A

Time : 2 Hours Marks : 35
SECTION - I | (Marks : 5x2=10}

Note :

1. Answer ANY FIVE questions, choosing atleast TWO from each of the
following Groups, ic, Aand B .

2. Each question carries 2 marks.

GROUP- A
(Real numbers, Sets, Pobynomials, Quadratic Equations)

343

5
4

I3}

1. Expand log

2. Draw the Venn diagrams of the sets (A - B), (B—A).
3. Find a quadratic polynomial, if the zerocs of it are 2 and -1 respectively.

4.  Find the roots of the equation 2x%+ x -8 =0 by factorisation.
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GROUP-B
{Pair of Linear equations in two variables, Progressions, Co-ordinate Geomaetry)

5.  10students of class X took part in a mathematies quiz. If the number of girla is
four more than the number of boys; then find the humber of boys and the
number of girls, who took part in the quiz.

6. Find the number of terms in the following AP
To18, 19, 0 200

7.  Find the coordinates of the point, which divides the join of (-1, 7) and
(4, -3)intheratio2: 3. :

8. Find the area of the triangle, whose vertices are (2, 0), .{1, 2}, (-1, 6).
What do you obgerve ?

SECTION - IT (Marks : 4x1=4)
~ Note : T |
1. Answer ANY FOUR of the following SIX questions.

2.  Kach question carries 1 mark.

9., Find the value of log i

10. List all the suhsets of the following set B = {p, g}.
11, Write the followingset {x:x =2n + 1 and ne N} in roster form.
12. If plx) = x”-5x -6 ; find the value of p(3).

13. Find the common ratio of GP

14. TFind the mid point of the line segment joining the points (2, 7) and (12, =7).
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SECTION - 111 (Marks : 4x4=16)

Note :

1. Answer ANY FOUR questions, choosing atleast TWO from each of the
following Groups, ie., A and B.

2.  Bach question carries 4 marks.

GROUP-A
(Real Numbers, Sets, Polynomials, Quadratic Equations)

15. Showthat 5-.3 is irrational.

16. IfA=1{1,234}, B=1{1,23,5,6},thenfind (i) AnB, (i) BAA ,
(iii) A-B, fiv) B-A, and what do you observe ?

17. Find the zeroes of the polynomial p(x) = x% - 4x + 3 and verify the
relationship between zeroes and coefficients.

18. Solve the quadratic équation 2x* + x -4 = 0 by completing the square.

GROUP -B
(Pair of Linear equations in two variables, Progressions, Co-ordinate (Feometry)

19. BSolve the equations.

10 2 15 3 ;
+ =4 —- =2
x+y x-—% B

20. Solve the pair of equations by Elimination method.
2 +y-565=0, 3x-2y-4=0 :

21. If the sum of the first 7 terms of an AP i3 49 and that of 17 terms is 289;
find the sum of the first n terms.

22, Find the area of the triangle formed by joining the mid points of the sides of
the triangle, whose vertices are (0, ~1); (2, 1) and (0, 3}. Find the ratio of this
area to the area of the given triangle.
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SECTION - 1V (Marks : Ix5=5)

(Polyromials, Pair of Linear equations in fwo variables)

Note : _
1. Answer ANY ONE question from the following.

2. This question carries 5 marks.

28. Draw the graph of pix) = x? + 3x —4 and find zeroes.

Verify the zeroes of the polynomials.

24. Bolve the following equations graphically.
3x gt ?:
Qe + 3y =1
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This Question Paper contains 4 Printed Pages.

MATHEMATICS, Paper - 1
(English version)
Parts Aand B
Time : 2% Hours} ' IMaximum Marks : 50
Instructions :

Write the answers to the questions under Part-B on the Question paper itself
and attach it to the answer book of Part-A.

Part - B
Time : 30 minutes : Marks : 15
Note : _ ,
1. Each question carries 2% mark.
2.  Answers are to be written in the Question paper only.
3. Answer all the questions.
4.  Marks will not be awarded in case of any over-written, re-written or

erased answers.

1.  Write the CAPITAL LETTER showing the correct answer for the

following questions in the brackets provided against them. 10xYe=5
1. If pigprime, then -\5 | A [ 1
{A) Composite number {B) Rational number
(C) Positive integer (D) Irrational number
2. Exponential form of log, 8 =x is....... [ ]
(A) x*=4 ' (B) x'=8
C) 4=8 (D) & =4
3. If log 625 =k log 5, then thevalueof kis ....... [ ]
(A) 5 _ (B} 4 '
{C) 3 (D) 2 _
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4, g form of 0.0875is ......
(A} (B) <
24 x5 - 2x 5%
5% %7
© st D st
5. If AcB, n(A)=5andn(B) =7, then n(AUB) = ...
(A) 5 ' (By 7
© 2 (D) 12
6. If2and 3 are two zeroes of x% — 5x° + B,
then find the third zero ....
(4) 1 o (B) 4
(C) 5 (o o
7. Which is not a linear equation of the following ?
{A) B+dex=vy+3
B x+2y=y—=x
(C) 8-x=y+4
(D) x+y=0
8. Two angles are complementary. If the larger angle
is twice the meagure of a smaller angle, then smaller is ......
(A} 30° (B) 45°
(C) 60° (D) 15°
9. The commen difference of AP 1, -1, -3, ....... is...
(A -1 . (BY.-+2
(G -2 L, (D) +1
16E(B) (2]
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10. Distance between (0, 7) and (-7, Q) is ....... : [ ]
(A) a7 - (B) T2
€y 4 ' (D) +1
. Fillinthe blanks with suitable answers. 10xY¥ =5
11. Decimal form of e VA B S
2° x5
12. If L.C.M. and H.C.F. of two numbers are 108 and 9 respectively and
one of them is 54; then other numberis ...........
13. If log, x =3, thenx= ...
14. If L A th b=
. 160 2P x 5™ LR U NN e
15. Ifthe polynomial p(x) = x®- 8¢ + & is divided by (x - 1),
the remainder comes out tobe ‘6’, then & is .................
18. The discriminant of the Quadratic equation pa® + gx + r = 0
1 SRS OUY s~ N SR
17. The first negative number of AP; 14, 11,8, ..ooo... i3 oo termL
18. Intersectingpointof x4y =6, x=¥ =4 18 ..o
19. (-2,8)point ies 0N ......cccovcvonnsnnnniinsisiiccs e, Quadrant,
20. Slopeof Y-axis i3 vvvecveeveeeens
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1.

W

21,

29,
23.
24,

. 26.
(i)
; 2"3;

27

28.

The zero of lineay p{)l}rnnmlal

: Prudu::t r::ni' the zeroes of the
* polynomial Bx? + ax + ¢ =

Find the carrect answer for the quesiions gwan wzd’er Group-A selecting them .

from Group-B and write:the mdamﬁng ietter in the brackeis. pmmded against

each question.

: Gmup -A

m:b"-

1f the prﬂduct of zerpes is 0’ of
the polynomial ax? 4 bx ¥+ ¢,
then the value of ¢ 15

polynomial 2= 3% + Bis

Sum iﬁ' the zerees of the

UJ: I;L 1"_. are the zeroes of the
polynomial & + 3x%-x + 2,

Group . A

Distence between X-axis and
{—4,8) i5........0 |

D]St&l’l{.e between ﬂrlgm anci::.' i ]
(2,3) is .

-Bmtanm_between'.icsﬁs.and

4, 0) 8

29,

Mid point of line joining the

~ points (2,8) and (-2,8) = ...,

a30.
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: Centroid of 2, tria'ﬁgl'e'

whose vertlt;ea are ¢

{D 3k (3, 0 [U B} i85

Earc

™

T

(D)

i

C10x e =45
Group - B

(A 0

® -2

| o

(C)

&=

S

(. -

B o

"dﬁ;ﬁ;{ s
M 5

(K) 3

1.2

o) Jfa -
©) (©,0)
(Py (0,3)
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